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Explicable is the best answer for Accountable for.
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NOVELTY & something that is new and different - resistance to
change * 7 B & :x % new ik & > @ 3% different > Fix + T 2
kg novelty 2t s B2 ¥ % -
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Technically it is "attributes to' but the source is also thinking of
‘describes as' and has conflated the two structures. This kind of
thing happens quite often. As examinees need to choose the 'best’
answer, Choice of (A), (C) or (D) simply does not make sense
semantically whereas and (B) is definitely grammatically
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incorrect.

B2 EMIBERNLEE AETD fol B G TS

A o "hardly” st “easily”4F sk F1E_3 "and”$ @ 7 0 F A
& CBasily &0 22 e F 40t hardly"’p & Rb*7 o Students
are asked to choose the best answer, not possible answer.
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Although it doesn’t indicate how many, semantically, the word
does not have any problem. “Multiples” simply means many times
over.
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The option C is a typo for ag., that means agriculture. So both A
and C are faulty

Both Aand C
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The sentence “Psychologists note that the type of stress we feel is
also tied to the kind of personality we have — Type A or Type B”
suggested that there must be a correlation between the two types of
personality (A & B) and various stresses. Therefore, following the
sentence is the discussion about the correlation among the two
types of personality and the reactions showed by the people of
both types when facing stress. That is to say, the type of
personality LEADs TO ( or SHOWS) the kinds of stress-dealing
behaviors and reactions, NOT the type of personality
INFLUENCEsS the kinds of stress-dealing behaviors and reactions.
Therefore, the CORRCT answer should be “ (A) Personality and
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Stress: Classification and Correlation”.
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“Palliative care" is a term to describe hospice care.

% B F % o It's the story from website, which promotes
palliative/hospice care.

Also consider the definition of "palliative”
(http://www.thefreedictionary.com/palliative):
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The palliative care maintains Millie’s quality of life; it does not
change the environments. Hence B is the correct answer
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A. afarensis remains by far the most conspicuous hominin in the
fossil record of East Africa 3 to 4 million years ago, during a
period known as the Middle Pliocene. But in the last two decades,
scientists have named several others, including Australopithecus
bahrelghazali from Chad (& 2%), and Kenyanthropus platyops

from Kenya( & 2£). A. deyrimeda further swells the crowd.

In the second paragraph, it indicates that “Represented by
jawbones from three individuals, a newly described species
named Australopithecus deyrimeda adds to the scatter of evidence
that not one, but a range of hominin species populated the East
African landscape before 3 million years ago.”

S, ABEARRBREE

“There is now incontrovertible evidence to show that multiple
hominins existed contemporaneously in eastern Africa during the
Middle Pliocene,” the authors write.
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In second paragraph, it indicates that “Represented by jawbones
from three individuals, a newly described species

named Australopithecus deyrimeda adds to the scatter of evidence
that not one, but a range of hominin species populated the East
African landscape before 3 million years ago.” Hominin is a
creature that paleoanthropologists have agreed is human or a
human ancestor. The best answer is ape-men.
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